7 A £HE B HFR g & ER2947 8158 (1)

BEIILTEEE
[ —f&DER ] [ =7 LTARADER ]
NIz K £ NET HDCP TOTAL ouT IN OUT NET Iz K £ NET HDCP TOTAL ouUT IN OUT NET

B B 1E IR 600 300 90 (48 42 ) 330 BB == 61.0 17.0 78 (39 39 ) 305
20 BEE #A 620 240 86 (46 40 ) 340 260 HAE —3 61.0 15.0 76 (39 37 ) 315
3hr B 660 260 92 (49 43 ) 360 3 HEM BEE 610 220 83 (43 40 ) 320
A B = 680 230 91 (44 47 ) 325 AL RAA ERE 620 230 85 (42 43 ) 305
5y #EEZ 68.0 13.0 81 (40 41 ) 335 bhy e EA 62.0 19.0 81 (41 40 ) 315
6h A BEF 68.0 14.0 82 (42 40 ) 350 6hr  =A BHx 630 200 83 (41 42 ) 310
Th  RHE— 680 210 89 ( 46 43 ) 355 Th R B 63.0 14.0 77 ( 38 39 ) 310
8 B AF 68.0 15.0 83 ( 43 40 ) 355 8hr ALK F4E 630 280 91 (46 45 ) 320
ohr A HE 69.0 16.0 85 (41 44 ) 330 ot Wk B&£ 63.0 16.0 79 (41 38 ) 330
106 k¥ @k 69.0 9.0 78 (38 40 ) 335 1067 M &ig 640  20.0 84 (41 43 ) 310
14 =\ aE 69.0 17.0 86 (42 44 ) 335 1M BR BEF 64.0 12.0 76 (38 38 ) 320
126 ALK HME 69.0 17.0 86 (45 41 ) 365 1260 HIF N8 640 260 90 ( 46 44 ) 330
1360 WA FB 69.0 200 89 (50 39 ) 400 136 @t B 650 200 85 (44 41 ) 340
1467 =17 sash 700 250 95 (52 43 ) 395 146 RH#B 650 230 88 (46 42 ) 345
1561 FE# B= 72.0 13.0 85 (39 46 ) 325 1561 K% ®Al 650 280 93 (49 44 ) 350
1660 A & 72.0 6.0 78 (37 41 ) 340 1661 i B|R 67.0 14.0 81 (40 41 ) 330
1761 feak = 72.0 9.0 81 (40 41 ) 355 1760 WF BE 670 200 87 (44 43 ) 340
1867 M E= 720 300 102 ( 51 51 ) 360 1860 BN EE 670 210 88 ( 45 43 ) 345
1961 &M Foig 72.0 16.0 88 ( 44 44 ) 360 196 FH = 67.0 18.0 85 (45 40 ) 360
206 AR #E 720 230 95 (48 47 ) 365 2061 HRE IBE 67.0 11.0 78 (43 35 ) 375
2567  hE KF 73.0 6.0 79 (39 40 ) 360 2561 1Rk BBk 68.0 1.0 79 (41 38 ) 355
307 1Lk = 74.0 13.0 87 (47 40 ) 405 3067 BPA Bi— 69.0 12.0 81 (40 41 ) 340
3B @ BE 760 270 103 ( 51 52 ) 375 3R FWwIE 700 290 99 (49 50 ) 345
400 PR HE 77.0 18.0 95 (49 46 ) 400 400t AR fE= 70.0 19.0 89 (47 42 ) 375
4507 FREE =R 780 250 103 (51 52 ) 385 4501 Bl $288 710 290 100 (50 50 ) 355
5060 HELER 79.0 18.0 97 (50 47 ) 410 5O k% 40 710 280 99 (51 48 ) 370
60 Hk FH= 840 250 109 ( 60 49 ) 475 6067 — BB 73.0 17.0 90 ( 46 44 ) 375
70 WAE $E— 76.0 19.0 95 (49 46 ) 395
BBE  fl =iE 86.0 11.0 97 (52 45 ) 465 BBE IO B 91.0 300 121 (6160 ) 460
BGE #H —i& 76 (39 37 ) Par 72 I—AL—k  RE—=TL—h

BH(F) 6606 yard 713 128

BH(E) 6237  yard 69.5 123

BEiE(4L) 5892  yard 68.1 119

BEHE(HR) 5281 yard 64.9 114

“iE(FR) 5281  yard 70.1 123

LK) 5185  yard 69.5 123




